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SSC DELHI POLICE CONSTABLE EXAM

Held in : 06.12.2017 (Shift-I1II)

GENERAL INTELLIGENCE AND REASONING

1.

In the following question, select the related word
from the given alternatives :

frafafad w1 ¥ U U fasedl & @ Hefd 5 i
9T

Red : Colour : : Pen : ?

e ;W oi: ke ?

(1) Stationery /R STt

(2) Write /fer@m

(3) Ink/®El

(4) Blue/ret

In the following question, select the related let-
ters from the given alternatives :

frfafaa g9 o feu o famedi § @ Gefud s1am &l

9T

TRUMP : QNVSU : : BRUCE : ?

(1) FBTSA (2) EDUSB
(3) DBTQA (4) FDVSC

In the following question, select the related num-
ber from the given alternatives :

frafafaa g9 o feu U famedi § @ Gefig e @l

9T

324 :657::461:°

(1) 584 (2) 691
(3) 794 (4) 831

. In the following question, select the odd word

from the given alternatives :

frfafea w § feg Tu_fodedi & o foom =
9T :

(1) Rodents/%dh

(2) Reptiles/ﬂﬂ'ﬂq

(3) Amphibians /39T

(4) Cow/TH

In the following question, select the odd letters
from the given alternatives :

frafafaa 999 o feu 7w fasmedl § 9 faum 1@ =l

I
(1) JLOQT (2) EGJLP
(3) BDGIL (4) HIMOR

6.

10.

11.

In the following question, select the odd num-
ber—pair from the given alternatives :

frafafaa e o fig o fawmed § 9 faug den-gm

#l gia
(1) 7-4 (2) 9-6
(3) 11-8 (4)23-21

. In the following question, select the odd num-

ber—pair from the given alternatives :

frafafaa g o fw wu fawed o 9 faug den-gm

w g .

(1) 6-39 (2)9-84

(1) 6-39 (2) 9-84
(3) 4-19 (4) 7-50

How many triangles are there in the given figure
[>)

%ﬂémﬁﬁﬁmﬁﬁﬁa%’?

(1) 5 2) 4

(3) 6 (4) 3

How many rectangles are there in the given fig-
ure ?

& T et W fehad emEd €2

(1) 10 (2) 11

(3) 12 4) 9

Three positions of a cube are shown below. What
will come opposite to face containing ‘3'?

F Tk T T A et el € ‘37 g9 Gk
& fagdq = ewm?

5 3 Z

s|Y 1ol|D | 718
(1) 5 (2) 9
3) 7 4) 8

How many surfaces are there in the given figure?

& ¢ arepfa ® et wae €2



12.

13.

14.

(1) 8 2 7
(3) 6 (4) 11
From the given answer figures, select the one in
which the question figure is hidden/embedded.

Question Figure/Uy 3Te(d :

A

Answer Figures :

(1) 2)

o | || A

Which answer figure will complete the pattern in
the question figure ?

HH-H S AR FT AR F Ufawy I QU B2
Question Figure/Uy 3T(d :

?

Answer Figures /37T 3Tehfaar

(1 2)

3) (4)

If a mirror is placed on the line AB, then which
of the answer figures is the right mirror image of
the given figure ?

If% Tw WU K ABIE W W1 WY, q@ & T IW
TRl W @ HH-El TR we emeRfa w wEl gd
yfgfer grit?

Question Figure/Uy 3Teh(d :

—

AN B

15.

16.

17.

18.

Answer Figures /37T 3Teh{aar :

X
(1) 2) K
X
(3) 4 A

In the following question, select the number
which can be placed at the sign of question mark
(?) from the given alternatives :
frefafed w7 ¥ fRu v fowedi § ¥ w9 fog () &
WM W M el g@en & g

[4] [2] [3]
[6]39]5] [7]54] 8] [4]2]7]
[ 3] | 5| [ 8]
(1) 62 (2) 68
(3) 72 (4) 78

Identify the diagram that best represents the re-
lationship among the given classes.

9% 3@ FHu St i e U G & = & gay @
wdl freger w3 2
Pen; Pencil, Bottle

OO

0[5 @ @
3) @ (@D

In the given figure, how many fans are fast but
not white ?

& T amegfa W, fha Td fe € Wy WHR T 2

/5\ /Fast/?ﬁﬁ
31

9 8 6\20
14\
White /The

16 |€=TFans /9@

(1) 20 (2) 26

(8) 51 (4) 36

From the given alternatives, select the word which
CANNOT be formed using the letters of the given
word.

frafafed fawed 4 9 @8 w5 g s kg 0 7= &
He W YAM FH TG a1 HhAll

INCARNATION
(1) RAIN (2) CARE
(3) COIR (4) TRAIN



19.

20.

In the following question below are given some
statements followed by some Conclusions. Tak-
ing the given statements to be true even if they
seem to be at variance from commonly known
facts. Read all the Conclusions and then decide
which of the given Conclusion logically follows
the given statements.

F fou 1T T F U R A 9] 39 HeA W
i e frend fRu Tu € K e weEl # g 9,
IR A9 = T aet § e g et fred of sii
fire fwifid s o fu o A 9 e, fRu o st
® MR W gRRET 2

Statements /9T :

I. No vehicle is white/12 et e &l ©

II. Some white are blue/%s e i 2l

Conclusions /f-&nt :
I. All blue are w hite/@% il ghg 2|
II. Some vehicles are blue/®s Tiedl et €l
(1) Only Conclusion I follows.
o freepd [ W@l 2
(2) Only Conclusion II follows.
wHad fresd I w8l 2
(3) Both Conclusion follow.
21 & freed wEl 2
(4) Neither Conclusion I nor Conclusion II fol-
lows.

T @ fred 19 & freed 1196 2

In the following question below are given some
statements followed by some Conclusions. Tak-
ing the given statements to be true even if they
seem to be at variance from commeonly known
facts. Read all the Conclusions and then decide
which of the given Conclusion logically follows
the given statements.

Fo fou 1T T F w5 U R S 98 39 He W
i e frend fRu Tu € K e weEl # 9d qm,
IR A | T a9 e el weft fred og sii
fire frwifig =Y o feu oM 9 freed, feu o st
% SMUR W YfEm g

Statements /9T :

I. All pencils aré watches/®ft el =fgar €

II. Some watches are black/%® El'r%Tﬁ il

Conclusions /f&nt :

I. Some black are pencils.
o we U 2
II. All watches are black.
wo ufgdl He 2l
III. Some pencils are not watches.

wo U sfgal e 2l

21.

22.

23.

24.

25.

(1) Only Conclusion I follows.
Hae frhd [ w8l 2
(2) Only Conclusion II follows.
wHad frehd I w@l 2
(3) Only Conclusions II and III follow.
et freh 1T den 111 Tl 21
(4) Neither Conclusion follows.
#E freand el e 2
Pointing towards a lady, Lokesh said, “She is the

daughter of my mother’s only daughter.” How is
Lokesh related to that lady?

T Afgell &1 3R Hehd A gL, A 7 Fel, a8 7l
I 1 THAE T H TRl oAb 39 afgen 9 fhe
YER Hefud 872

(1) Father/faa (2) Son/ga

(3) Brother/«T§ (4) Uncle /¥

J is son of P whovis the brother of M. M is the

daughter of A..L is the sister of J. How L is relat-
ed to A?

J, P G &S0k M1 9 81 M, A®I it €1 L, J
# geT 21 L, A9 e yhR Hefud 22

(1) Daughter/gft

(2). Wife /gt

(3) Sister/dg"

(4) Grand daughter/fﬁﬁ)f

Which number is 40% less than 80% of 300?
FH-H G&A 300 H 80% W 40% HH 8?2

(1) 156 (2) 144

(3) 172 (4) 136

Two numbers are in the ratio 3 : 2. If 6 is sub-

tracted from each number, then ratio becomes
12 : 7. What is the value of smaller number?

Y HEE 3 ;2 F U | ¢ AR Yok Hem § 9 6
A WU, A UE 12 : 7 @ Sl @1 SRl ge &
M 2

(1) 25 (2) 30

(3) 20 (4) 18

In the given question, there are four figures giv-
en out of which three are similar in some man-
ner and one is not like the others. Select the
figure which is odd one out.

U T e o, =R emefaa € E © fowd 9 e feeht
T O F AUR W GEE € a1 Th FEuHR 9 2
fa= smepfa &t g .

m | e @
o [#> w | <d




26.

27.

28.

29.

30.

In the given question, there are four figures giv-
en out of which three are similar in some man-
ner and one is not like the others. Select the
figure which is odd one out.

e T e W, =R emefaa € E € fwd @ = feedt
T 0 H AUR W GEE § a1 Th FEuHhR 9 2
fa= smepfa @t g .

) | S=p @
(3) @ @ | =

In the given question, there are four figures giv-
en out of which three are similar in some man-
ner and one is not like the others. Select the
figure which is odd one out.

U T e W, =R emefaa € E © fwd @ = feeht
T 0 H AUR W GEE € a1 Th FEuHR 9 2l
fa= smepfa &t g .

ke CIRN
@ L& @ | [

In the following question, select the missing num-
ber from the given series.

frafafaa g7 o fiw o fosedi # @ qw-oid Fd

Eaisiyl

11, 13, 16, 20, 25, ?

(1) 43 (2) 29
(3) 31 (4) 38

In the following question, select the missing num-
ber from the given series.

frafafaa g7 o faw o foskedi @ @ ofE 9@

Eaisiyl

5,6, 11, 17, 28, ?

(1) 43 (2) 45
(3) 38 (4) 35

In the following question, select the figure which
can be placed at the sign of question mark (?)
from the given alternatives :

frafafag wea o fgu 7w famedl & @ a1 fag (2) &
A W M aelt THfd g e & g .
Question Figures /Y9 3Th{d :

LML e

31.

32.

33.

34.

Answer Figures /37 3TTeh{aar :

m | M @M
@ | M w | M,

In the following question, select the figure which
can be placed at the sign of question mark (?)
from the given alternatives :

frfafaa g9 o feu U fameni 4 9 y1 fog (2) =&
M W 3 el 3Tpfa & T :
Question Figures /Y9 _3TThfq :

Vad Pl |

| i S|
Answer Figures/3S<{ 3Tehfaar :
W [T (2) [T
@) == @ [

In the following question, select the figure which
can be placed at the sign of question mark (?)
from the given alternatives :

frfafaa g9 o fou 7u fawmeni 4 9 y1 fog (2) =&
M W 3 el 3Tpfa & T :
Question Figures/Y9 3Th{d :

INIARCHIZE:

Answer Figures /3T 3Teh{aar :

) @
@) @

In a certain code language, “FREAK” is written
as “IUHDN”. How is “STROM” written in that
code language?

& faftre #ie a1 #, “FREAK” @i “ITUHDN" fer@r
S 21 3@ WIS 9 § “STROM” &1 fh® YR feran

STa?
(1) VWURP (2) HGILN
(3) VXRIT (4) WRPVX

In a certain code language, “STAMP” is written
as “71”7 and “FROM” is written as “54”. How is
“LOCKS” written in that code language?

T fafyre sie o o, “STAMP” i “71” 921 “FROM”
F “54”, fa@r S 21 9 w9 § “LOCKS” &l
fFa R fomer smom?



35.

(1) 60 (2) 62

(3) 64 (4) 66

In a certain code language, “LUKEWORM” is
written as “OTQYGMWN”. How is “STALMATE”
written in that code language?

T fafite wie 9 A, “LUKE- WORM” &1 “OTQYG-
MWN" feran Sl 81 39 ie T § “STALMATE”
fha yR for@r smm?

(1) GVCONCVU

(2) CRYKJYRQ

(3) CVYOJCRU

(4) GRCKNYVQ

GENERAL KNOWLEDGE AND
GENERAL AWARENESS

36.

37.

38.

39.

Which among the following is second require-
ment for production of goods and services?

frefafea & 9 SF-w aggeli qon Gasi & SaRd &
fore gEdt sTavaswar 772

(1) Labour/%H

(2) Water/drt

(3) Knowledge/=

(4) Fuel/g¥d

General Agreement on Tariffs and Trade (GATT)
has been replaced by which International Organ-
isation?

TeH T ANR W qHE q9ER (SN 1 fwd
HAEE e & g wiaedifua feen e 2

(1) United Nations/®J& T

(2) WTO /Es2tait

(3) World Bank/fawd &%

(4) IMF /3TETATS

Farmers of which state were the first.to try out
the modern farming methods in India?

fFe @ % feum wra A onyfas @t wgfoi =
HIT FE A T TE fREe?

I. Punjab/9STd

II. Uttar Pradesh/3ST W3

III. Tamil Nadu/dfHerg

(1) Only I/%ad I

(2) Only II/%9d II

(3) Both I and I1/5-@°T 11 I

(4) ALl L, IT and II1/1, IT qeN 111 9t

______ stock is the stock of food grains pro-

cured by the government through food corpora-
tion of India (FCI).

YR 9Nd % uE e (TeEeTs) & meEy
TR N A Rl S el oS 1 R R

(1) Common /9= (2) Preferred/aifemmfa
(3) Buffer/s®X (4) Income /3™

40.

41.

42.

43.

44.

45.

Which state is governed by a party which does
not allow other parties to compete for power?

fFg 59 ® TE TR gN FREGE R S oS e
WAt w1 T % fog wfoendl e @ erEfa e <ar 872
(1) Democratic State /a5 T

(2) Communist State/dr=as] T4

(8) Aristocratic State/FeldiAHh T

(4) Autocratic State/Usdid T

What is the introductory statement in a consti-
tution which states the reasons and guiding val-
ues of the constitution?

TF Hfaum ¥ URfae wude s Gfaum & hRon qen
Arieyieh qoal whi oA € = 22

(1) Tryst/%e (2) Clause/T

(3) Draft/9r&q (4) Preamble/9&ma1

Which among the following word/words is writ-
ten in Preamble of Indian Constitution?

Frefeiad ee/ael o -9 9 Giaue & gEeEE
¥ gen 2}

I. Justice/=™

IL... Liberty /€dsdl

[II.-Equality /€|

(1) Only/®ad 1

(2) Only/®aa II

(3) Both I and II/I @ I <

(4) Al L, 11 and III/1, II 9@ 111 G+t

Which among the following is NOT true with re-
spect to Indian Constitution?

frefefaa § @ ®F-o woF qRdE SfauE & ged o

T T 22

(1) Fundam ental Rights are Justiciable
Hifersr AR e &

(2) Fundamental Duties are Justiciable
Hifersr shded =IEETd §

(3) There are three types of emergencies in India
R § i W & o €

(4) Article 18 tells about abolition of titles
ATeR 18 Ih & THeM  aR § o €

1
Usually, in ancient India, tax was fixed atg th

of the produce which was called as
) 1. .
m:mﬁ?wﬁmmgmﬁwaﬂﬁmﬁﬁa

i form S en, 9. w1 S@m e
(1) Hissa/few= (2) Bhaga/
(3) Khanda/@€ (4) Shala/3men

Which were the two very powerful rulers of Ma-
gadha Mahajanpada?



46.

47.

48.

49.

50.

51.

T HESHIR % & Sgd & Vel IEE HhiE o7
I. Bimbisara/fafE@aR

II. Ajatashatru/ TSR

III. Vassakara/d%

(1) Only/%ad 111

(2) Only II and III/&dd II eI 111

(3) Only I and I/ I @ 11

(4) Only/®aa II

Where was the Natal Congress found in the year
1884°?

a9 1884 W, ecl G I TG Fal g2 ofi?
(1) Russia/®49

(2) Singapore/f&X

(3) South Africa/3If&0T STHIHT

(4) Britain/fsed

In which year Civil Disobedience Movement was
launched?

gfea stae sTee fovd ad ¥& gam om?

(1) 1921 (2) 1925

(3) 1930 (4) 1935

Jainism in ancient India was supported mainly
by

WA 9RA W S oH e wY W g i
o |

(1) forami (2) =AM

(3) HERI (4) R

(1) farmers (2) traders

(3) potters (4) artisans
Vardhaman Mahavira was prince of Lichehavis,
which was a groupof ______ Sangha.

I TRER fossfa a9 & TSRAR o S fo
HE h HHE I

(1) Magadha /=9 (2) Vajji/ats

(8) Anga /3 (4)-Gandhara/T4R

Through which of the following Indian state the
Tropic of Cancer does NOT pass?

frafafaa & 9 ffa ardia 9 9 &6 @ & et
22

(1) Gujrat/7TsIUd

(2) Uttar Pradesh/3xX T

(3) Jharkhand/sR&@E

(4) Madhya Pradesh/#H¥3 L]
Which is the longest lake in India?
IR 1 T sl giel hiA-E 82

(1) Vembanad lake/dwHTe gict

(2) Pulicat lake/Jfcishe 3fia

(3) Kolleru lake/®leeie et

(4) Loktak lake/dlishes gict

52.

53.

54.

55.

56.

57.

The part of the Himalayas lying between Satluj
and Kali rivers is known as _____ Himalayas.

Haods qe wTel Afem & o9 feud femem &1
fee_ fewe@ & ®9 H ST @ R

(1) Assam/39H

(2) Kumaon/w

(8) Punjab/qSTe

(4) Kashmir and Himanchal/s¥R den feama

What is the name of the headwaters of the Gan-
ga that is fed by the Gangotri Glacier?

T TR grn kgt o el w5 o am @2
(1) Padma/d9sH

(2) Damodar /eI

(3) Bhagirathi/ “Tfieeh

(4) Alaknanda/3Teehal

In general, which areas of India do NOT experi-
ence large contrast in temperature conditions?

YT dR R, AR % i Y & qaHH shi St foada
feorfal eiqwe el i &2

(1) The Northern Plains/3d@ #eH

(2) The Peninsular Plateau/YguE U8R

(38) The Great Indian Desert/T8M 9da IR
(4) The costalareas/ddd &3

Which two Indian cities will be connected by first
phase of East coast Economic Corridor?

d g2 enfde TfemR & Yo wRor @ #F ¥ I AR
A H SIGl ST?

(1) Visakha patnam-Chennai/faememeeaq-=-¢
(2) Bengaluru-Chennai /w,ﬁq—g

(3) Hyderabad-Raipur /2&eE-TaqT

(4) Mumbai—Surat/HﬁéfW

Which substance offers no resistance to the flow
of electricity?

FE-1 g fastell & e w w9y weE Al
HLT B2

(1) Insulator/faqarEs

(2) Conductor/@a@s®

(8) Capacitor/S¥ma

(4) Super conductor /fT=TeTh

Which among the following is a property of the
wires used for making electric fuses?

frefafed & 9 wF-w faselt #1 ®E T H % fag
TR AR T TH 0T 22

(1) Low melting point/%# ek

(2) High melting point/3ifts TeHh

(3) High resistance/31fas wfae

(4) Low conductivity /<" =etshdl



58.

59.

60.

61.

62.

63.

64.

How would a small circular disc with seven rain-
bow colours appears when rotated fast?

I 3563 & T aren SreI-9 uies fewk oSt | g
M W HE Ydid grm?

(1) Red/re (2) Violet /a1

(3) Green/& (4) White/d%g

The transfer of pollen from the anther to the stig-
ma of the same flower is called

T S WEA-FE () ¥ 39 Fa & afden (e
Y TR0l kI kel Wl el

(1) Self-pollination /¥ 01

(2) Cross-pollination /-1

(3) Reverse—pollination/ﬁﬂ'@—ﬂTl”TUT

(4) Synthetic-pollination /& 5® -0l

Which is the unit of inheritance in living organ-
isms?

FE-d Sffed el o foraa w1 g 22

(1) Nucleolus /&5

(2) Chromosome /TUTHA

(8) Gene/=3m] =1 f3e

(4) Cell/wiferanT

A small piece of a thin strip of magnesium burns
with a brilliant light.

Tifiem #1 Th Udell T2 # BRE-W THY TH

THFER _ GHIY B =W Sdl 2
(1) Yellow/dren (2) Red/eTa
(3) Blue/ret (4) White /9%

The reaction between acid and base is called as
ST T AR & Wi UfdfeRaAr Wi
ST /1

(1) Detoxification/fawgto

(2) Emulsification /9 TehIoT
(3) Neutralisation /33Ul
(4) Fermentation/f&vas

Which substance increases the rate of chemical
reaction without being consumed?

HH-T oS for @ g, TEEtn giatear w5t ST w
ECi

(1) Buffer/d% (2) Solvent/faares
(3) Solute/fae (4) Catalyst/3cTH
Which among the following ensures that the

nutrients of the dead plants and animals are re-
leased into the soil?

frefafea & @ #F gfea st ¢ & ga def qen
SFEdl & dme dl i el § sig fa s

(1) Presence of canopy/=%al (&ArdY) =1 sufterfd
(2) Presence of seedlings/3& 1 Iuferfa

65.

66.

67.

68.

69.

(3) Presence of humus/ZAd &1 Iufeerfd

(4) No option is correct/® fosheq Tel &l €

What can be said about the competition for light,
nutrition and space between closely related or-
ganisms growing in the same area/niche?

TeRTYT, UIoeh dcd qe T & folt 99 TH W 919 ©
Sfal & " Wi & fowe § o el 1 Wehdl €2
(1) It does not exists/ZHH FiE @ &l ©

(2) It rarely exists/g&eh1 ik ogd g9 €

(3) It is most severe/® Haifter g B4 &

(4) It is moderate/3J8 Sgq B @

Which state has started programmes such as
'Hamari Shala Kaisi Ho' and 'Shala Siddhi Kary-
akram' in all government schools of the state?

g T 3 T & Tf T whal | ‘eur) e s
B’ qen ‘yren fafy wEen’ S wrEed JE R ©?
(1) Bihar/fa8R

(2) Madhya Pradesh/9s U391

(8) Punjab/qsTe

(4) Uttar Pradesh/3<X T

Whichis a new central sector scheme for Agro-
marine Processing and development of Agro-Pro-
cessing Clusters?

HE-H WA TRl qel HY-HgE TEEhT &

forpra & fau w € #5949 F AW 22

(1) Pradhan Mantri Kisan Sampada Yojana
JUFES fhaH TRy A

(2) Pradhan Mantri Krishi Vikas Yojana
JuEEst Rt fawm Fe

(3) Pradhan Mantri Kisan Kaushal Yojana
et e e dis

(4) Pradhan Mantri Kisan Samriddhi Yojana
guEEs feam wgfg di

Scientists have discovered most ancient -

galaxy named A1689B11, recorded so far in the
universe.

AR A SRS H T qF I IS HI T Y WA
A1689811 ek STHTEE T @S Y 2
(1) Spiral/ssfaq (2) Elliptical/I=g<ia
(3) Irregular/fafaa (4) Zig-Zag/33-Te

RNA editing for programmable A to I replacement
is a gene editing tool to combat

SINTAT FURA & fau gom a9 e T 2 sme wfasems
__ g F % T T S He S 8|
(1) Genetic disease/3TafTH I

(2) DNA degeneration /ST 314 T

(3) Morphological changes/3Tfd dRad

(4) No option is correct/® fosheq Tel =&l €



70.

71.

72.

73.

74.

India defeated Malaysia in 2017 Men's Asia Cup
Hockey title to win its overall Asia cup
title.

fere geat #t 2017 TR w9 2wt fadae § mafyen wi
ExiE

(1) Second /{{ﬁ

(2) Third /R

(3) Fourth/=e

(4) Fifth/9r=a

Which shuttler won silver medal at 2017 World
Badminton Championship?

2017 ¥ fova seffen Afag=fim # frg dsfie faaret
¥ T&q UgH S ?

(1) Saina Nehwal /¥l "&gaTal

(2) P. V. Sindhu/d. =ft. &y

(3) Jwala Gutta/Sdredl T[T

(4) Neha Pandit/7@1 dfed

On July 18, 2017 India and China submitted a

joint proposal in World Trade Organisation on
which among the following?

18 @€, 2017 i f=fafed § 9 fFa W ara qen =i
3 fava =R W1ed ¥ UH WY TEE WA fRaAr en?
(1) Aggreg ate Measurement of Support
HelIdl <l HHI HIYUA
(2) Trade-distorting subsidies
MR fosga afeaet
(3) Rules of agricultural trade
T =R % T
(4) No option is correct
FTE fared T8 T& 7
On October 29, 2017 India flagged off shipment

of wheat for which country through Iran's Cha-
bahar port?

29 R, 2017 H 9IRA 1 WH & =R ITME &
e o fRg 39 & fow 8 T @_E A en?

(1) Afghanistan/sTHTH

(2) Myanmar /®IHR

(3) Maldives/TTe&ra

(4) Pakistan /49

Who has been awarded 2017 Hridaynath
Mangeshkar Award?

2017 & TN TR R ° feg gumfa feen
T R?

(1) Amitabh Bachchan/3fqare s==q

(2) A.R. Rahman/T, 3R &HH

(8) Javed Akhtar/STeg &N

(4) Asha Bhosle/3TRT et

75.

76.

77.

78.

79.

Who has won 2017 Discovery Education 3M
young scientist challenge?

2017 fethadl THYA 3 TH FAT eIk WA
fore St 2

(1) Gitanjali Rao/ st T&

(2) Maanasa Mendu /HH9 ﬁ'g’,

(3) Laalitya Acharya/dlfae =

(4) Anika Bhagavatula/3f T FTETqel

Which organisation in India is planning to bring
‘Initial Coin Offerings (ICO)’ under its existing
legal framework?

Id H RGN S A Gd9H FHEA @™ & ded
‘sfaferre wieT ol (eMEeish)’ @™ &1 e s
@ 772
(1) Securities and Exchange Board of India (SEBI)
AR wfayfa qen fafa e (@&
(2) Reserve Bank of India (RBI)
qRdra fior S (SREie)
(3) State Bank of India (SBI)
e (b o 3fe (et
(4) Indian Economic Development and Research
Association (IEDRA)
AR e faepm qen ey §H (SEEEIY)

According to the Grant Thornton International
Business Report, 2017 India has slipped to which
position in the Business Optimism Index in the
September quarter?

e oFfed gervHa fasmg Ui, 2017 & 18R faqwer
fot o 9ra fosmg eifefem 2o o ffg wm =
fags T 22

(1) 5thydf (2) 7th/dt

(3) 11th/at (4) 18th/at

With which country, India has signed 6 MoUs to

boost important sectors including energy, trade
and railways on 30 October 2017?

30 @R, 2017 H 9RG 7 fFT I & W S, AR
e Yo Gied Hequl &6 1 SgEn 3 % fou 6 wwE
T R EEER fR #2

(1) Italy/seeft (2) Spain/¥i

(3) Germany /STt (4) France/%1d

In which city Ethopia organised a Business Dia-

logue on 5th October, 2017 to commemorate the
12th anniversary of the India Business Forum?

5 IR, 2017 i sferifuan 3 fhd v § 9Ra =R
9 i 129 IS &I AH & AT Teh AR 4wt bl
AEsH fRar en?

(1) Addis Ababa/31f<Hd Taran

(2) Dire Dawa/fe¥ <@

(3) Bahir Dar/¥€R 3R

(4) Harar/3X



80.

81.

82.

83.

84.

85.

Which year's version of the wetland rules in In-
dia will be replaced by the new wetland rules,
2017 notified on September 26, 2017?

I H emEdfH & femi @ few ad @1 g, 26
foqer, 2017 =1 sifegfem U safd fem, 2017 510
yfqeenfuq gmm?
(1) 2002 (2) 2005
(3) 2010 (4) 2013
The Talanoa Dialogue is structured around three
key questions.Which is NOT among the three
questions?
AR ol i G Tl o SAE-a TiEd €1 -
A g § @ T 22
(1) Where are we?

&0 el 77
(2) Where do we want to go?

TH HEl WM wed 872
(3) What needs to be done?

1 T S %1 SRl 87
(4) How do we get there?

T el Y e
Who was made Brand Ambassador for Swachh
Bharat Mission in Uttar Pradesh in August, 2017?
3T 2017 ¥, SW W H Wes AfaH & fau se
Towel e 9@ m=m?
(1) Amitabh Bachchan/3fHare s==q
(2) Akshay Kumar/31&F HHR
(3) Sunil Shetty/gad w2t
(4) Vidya Balan/fa=n =
Who is the youngest Indian to climb 6, 153 meter
high mountain Stock Kangri?
6,153 "X S Tdd Wik FHIE! =g o ged A
A & IRAE HH B?
(1) Laavnya/<eodt
(2) Kaamya Karthikeyan /&= ifdha"
(3) Arati Saha/¥dl @&l
(4) Archana Sardana/3T=HT GE&Hl
On October 27, 2017 which country became the
first ever nation to leave the International Crim-
inal Court (ICC)?
27 SRR, 2017 I HH @ W FREE 7o
e (STEEE) Hi-BIET AN ween | N 82
(1) Sudan/¥sH (2) Israel/sSI{scd
(8) Burundi/J&et (4) Russia/®49
In October, 2017 which country's passport has

become the most powerful in the world with a
Visa-free score of 159?

SRR, 2017 H fFy < *1 UEUR 159 & dis1 g
TR % WY g w1 Gad wifenel S= T 82
(1) Netherland/7€we  (2) Indonesia/3eRf¥mT

(8) Japan/STdH (4) Singapore /f&gX

QUANTITATIVE APTITUDE

86.

87.

88.

89.

90.

91.

92.

If 20 = /32 , then what is the value of n?
g 2" = /32 B, @ n w1 HE w1 2?2

5 3
M 5 @ 5
1 z
® 5 @ 5

What is the value of 12 + 13 + 14 + .... 30?
(12 + 13 + 14 +.... 30) 1 & 0 €2
(1) 365 ) 399
(3) 409 (4) 465
1

1 1 1
i 3—+5—+7—+9— 2
What is the value of B 6 12 20 °

31+5%+7L+9L H GF T =7

2 12 20
124 122
) o= @ 57
120 127
B @ S5

What is the largest number that exactly divides
24, 36 and 607?

I¢ Gad S e 1 €, S 24, 36 91 60 I gUkd:
e et 22

(1) 8 (2) 4

3) 12 (4) 16

What is the value of (0.12 + 0.03 x 0.01)?

0.12 + 0.03 x 0.01 %1 HH =T &2

(1) 4.01 (2) 0.04

(3) 04 (4) 0.0401

If 60% of a number is added to 200, then the

result is the number itself, then what is the num-
ber?

afg fFe = T 60%, 200 § SeT T, @ Jre afony
e % 9O ®, dl gem @ @2

(1) 500 (2) 250

(3) 600 (4) 750

A mixture contains alcohol and water in the ra-
tio 1 : 5. If it contains 2 litres more water than

alcohol, then what will be the quantity (in litres)
of water in the mixture?

e e o TewlEd 9°1 Wl 1:5 % UM | 1 A
30 51, Toshledl 4 2 ofieX aifire 2, df fasror § st 1
e (Sfex ®) fwat g
(1) 3.5
(3) 2.5

(2) 1
(4) 0.5



93.

94.

95.

96.

97.

98.

What is the average of first 12 multiples of 5?
5% JU9 12 (udcl H1 Ed A 72

(1) 31.5 (2) 33.75

(3) 32.5 (4) 33.5

A sum amounts to Rs. 5240 in 2 years and
amounts to Rs. 6288 in 3 years on compound
interest. What is the rate of interest (in %) per
annum?

Tk AT 2 T § wehefg oS W 5240 T B S ©
qem 3 o § 6288 T B W 7| AfH oS W (%
H) @ 27

(1) 10 (2) 20

(3) 15 (4) 30

A trader bought an article for Rs. 1400. What
should be the selling price (in Rs.) of the article
to earn a profit of 20%?

T faehdl T 9% 1 1400 ¥UT F S §1 20%
a9 FAR & foaw axg a1 foea 7o (¥9U H) @ B
=fgu?

(1) 1610 (2) 1560

(3) 1680 (4) 1780

A fan is sold at a discount of 20%. The cost price
of the fan is Rs. 960. If 30% profit is to be earned,
then what should be the marked price (in Rs.) of
the fan?

Tk T@I 20% HT G2 W S= Sel &1 T F HI T
960 TUT T AR 30% w1 @9 el fhan S, @ @
1 sifhd qoa (¥9C ®) feran g =ifew?

(1) 1820 (2) 1600

(3) 1560 (4) 1340

If the area of a circle inscribed in a square-is 16p
cm?, then what will be the area (in cm?.) of the
square?

I forelt ot & fi Ei= T gq. . &TFA 167 T
2 2, @ 9 w1 AERA (T2, H) @ e

(1) 64 (2)-76

(3) 25 (4) 16

The distance between places P and Q is 900 km.
A train starts from place P at 8 am at a speed of
25 m/s. The train stops on the way for 1 hour 40
minutes. At what time (in p.m.) train will reach
at Q7

< IF P Al Q & WA &1 g0 900 TRl ¥1 T YermEt
M P ¥ UM: 8 99, 25 WA & A ¥ =e IRY
FHIA 21 IS TR H 1 " 40 A TeRdl 21 TermEl
WM Q R fovg gm (TWe ®) wgerit?

(1) 6:40 (2) 7:40

(3) 8:05 (4) 7:20

99. A starts a business by investing Rs. 35000. After
5 months B joins the business with an investe-
ment of Rs. 50000. What will be the ratio of their
profits at the end of the year?

A, 35000 ¥9T 1 9 FF Th AR ARY FHIl 2
5 WEHl % Tv=d B, 50000 T % fa9r & @er MR
Y T Sl €1 a9 & 3id § I o9 h ST 1 Y
(1) 6:5 (2) 7:10
3) 12:7 (4) 8:5

100. Two taps J and L can fill a tank in 12 minutes
and 14 minutes respectively. If an outlet tap K is
opened, then all three can together fill the tank
in 21 minutes. How much: time (in minutes) will
tap K take to empty the tank?

S J T LT <HT bl gpae: 12 e den 14 fime
T W GHhd B A Tk R e K 1 @ s, d
T Y oot THT R 21 e § W "ehd €1 7 K
SThell IW TR! HI el FH § fhaw v (faeet #)
wm?
39 32
(1) % (2) 3
28
(3) 3 (4) 10
——= ANSWERS ——
1. (1) . (4) 3.3 4. (4) 5. (2)
6. (4) . (4) 8. (2) 9. (2 10. (4)
11. (4) 12. (2) 13. (1) 14. (2) 15. (2)
16. (1) 17. (1) 18. (2) 19. (4) 20. (4)
21. (4) 22. (4) 23. (2) 24. (3) 25. (2)
26. (3) 27. (4) 28. (3) 29. (2) 30. (2)
31. (4 32. (3) 33.(1) 34. (2) 35. (1)
36. (1) 37.(2) 38. (3) 39. (3) 40. (3)
41. (4) 42. (4) 43. (2) 44. (2) 45. (3)
46. (3) 47. (3) 48. (2) 49. (2) 50. (2)
51. (1) 52. (2) 53. (3) 54. (4) 55. (1)
56. (4) 57. (1) 58. (4) 59. (1) 60. (3)
61. (4) 62. (3) 63. (4) 64. (3) 65. (3)
66. (2) 67.(1) 68. (1) 69. (1) 70. (2)
71. (2) 72. (1) 73. (1) 74. (3) 75. (1)
76. (1) 77. (2) 78. (1) 79. (1) 80. (3)
81. (3) 82. (2) 83. (2) 84. (3) 85. (4)
86. (1) 87.(2) 88. (1) 89. (3) 90. (2)
91. (1) 92. (3) 93. (3) 94. (2) 95. (3)
96. (3) 97.(1) 98. (2) 99. (1) 100. (3)




= EXPLANATIONS &=

. (1) First belongs to second. Red is a colour. Sim-
ilarly, Pen is a stationery item.

.(4)"RUMP—>QNVST
Similarly,

BRUCE—iFDV

= ]

++++

Q

. (3)324 +333 = 657

Similarly,

461 + 333 =794

. (4) Cow is an animal which belongs to the class
Mammal.

Rodents, Reptiles and Ambhibians represent dif-
ferent classes of animals.

2 3 2 3

J L o Q T
@B *p *a 21 %L
H 2 g 3% m 2 o 3% Rr
But,
E 2 g S g %2 L *op

. (4) Except the number-pair 23-21°, in all other
number-pairs, the difference between the two
numbers is ‘3’.

7-4=3

9-6=3

11-8=3

But,

23-21=2

. (4) Except the number-pair ‘7-50’, in all other
number-pairs, the second number is three more
than the square of the first number.

6 >6x6+3=39

9-5>9%x9+3=84

4 >4%x4+3=19

But,
7>7x7+1=50
. (2) A

D
The triangles are : AAEC; ADCE; AFGE; ABHC

9.

10.

11.

12.

14.

15.

16.

(2) A B C D
I J
K L

H G F E

The rectangles are :

BCJI; IJLK; KLFG; BCLK; BCFG; IJFG;

ABGH; ACFH; ADEH; CDEF; BDEG

Thus, there are 11 rectangles in the given figure.
(4) The six numbers are :

3,4,5,7, 8and 9.

The numbers 4, 5;7 and 9 are on the faces adja-
cent to the number 3.

Therefore, 8 lies opposite 3.

(4) There are three surfaces in one arm besides
the front and back surfaces. Therefore, there are
3 x 3 +2 = 11 surfaces.

R
2)
A

(2) First Figure
4x6+5x3
=24 +15=239
Second Figure
2x7+8x5
= 14 +40=54
Third Figure
3x4+7x8

=12 +56= [ 68]

(1) Pen, Pencil and Bottle are three different
things. Therefore, these can be represented by
three disjoint circles.

13. (1)

Bottle



17.

18.

19.

20.

21.

22.

23.

(1) Fans which are fast but not white can be rep-
resented by such number which is present in the
circle and the rectangle but is outside the trian-
gle. Such number is 20’

(2) There is no ‘E’ letter in the given word. There-
fore, the word CARE cannot be formed.

INCA[RNA|T[I] ON=RAIN
IN[C]A[R]NAT[IO]| N = COIR

INCA|RNATI| ON = TRAIN

(4) First Premise is Universal Negative (E-type).
Second Premise is Particular Affirmative (I-type).

No vehicle is white.

e

Some white are blue.

E + I = O -type of Conclusion.
“Some blue are not vehicles”.

Thus, neither Conclusion I nor Conclusion II fol-
lows.

(4) First Premise is Universal Affirmative (A-type).
Second Premise is Particular Affirmative (I-type).

All pencils are watches.

"

Some watches are black.

A + I = No Conclusion

Thus, neither Conclusion I nor Conclusion IT fol-
lows.

(4) Only daughter of Lokesh’s mother means sis-
ter of Lokesh.

Lady is the daughter of Lokesh’s :sister.
Therefore, Lokesh is uncle (maternal) of that lady.
(4) J is son of P.

L is sister of J.

Therefore, L is daughter of P.

M is daughter of A.

P is brother of M.

Therefore, P is son of A.

Thus, L is granddaughter of A.

(2) 80 % of 300

= 80 x 300 =240
100
40% of 240
:ﬂ x 240 = 96
100
Required number = 240 - 96 = 144

24

25.

26.

27.

28.

29.

30.

31.

32.

33.

. (3

3x -6 12
2x-6 7
= 7 (8x-6) = 12 (2x-6)
= 21x-42 =24x-72
= 24x-21x=72-42

= 3x=30
AL
x= 35 =

Smaller number = 2x =2 x 10 = 20

(2) Except figure (2), all other figures are similar.
In figure (2) the line attached to bigger triangle
extends upto one of the vertices of the triangle.
(3) Except figure (3), all other figures are similar.
In figure (3) two smaller line segments point op-
posite directions.

(4) Except figure (4), in all other figures the num-

ber of designs (I_l—_D is equal to the number of

sides of the main design.
In figure (4) there are four sides in the main de-

sign and there are only three designs <L|__|>

(3)11+2=13
13+3=16
16 + 4 = 20
20+5=25
25 +6 =[31]

2)5+6=11
6+11 =17
11+17 =28

17 + 28 =

(2) In each subsequent figure one line segment is
added to a set pattern.

(4) In the subsequent figures, the design (,]) ro-

tates through 45°, 90°, 135° 180°............
clockwise respectively.

(3) In each subsequent figure all the three designs
are inverted and the outermost design becomes
the innermost design, the middle design becomes
the outermost design and the innermost design
becomes the middle design.

(1) F R E A K—I U H
I +3 T T
+3

D N
+3 "
+3

+3




34.

35.

36.

37.

38.

Therefore,

S TR OM—V W UTRP
| +3 T T T
+3
+3
+3
+3
(2)
S T A M P
Il \2 \2
19+ 20+ 1+ 13+ 16 =69
=69+2=71
F R (e} M
Il \2
6+ 18+ 15+ 13=52
=52+2=54
Therefore,
L (¢} C K S
I 1 \2 \2
12+ 15+ 3+ 11+ 19=60
=60+ 2 =62

() LUKEWORM—OTQYGMWN
I +2

I#A

+2

+2

+2

+2

+2

+2

Therefore,

STALMATE=—=GVC

Ej

CVU

(1) The four requirements of production of goods
and services are land, labour, physical capital and
human capital. Labour represents all the people
that are available to transform resources into goods
or services that can be purchased. Land is the
physical and mental efforts of human beings used
for the production of goods and services.

(2) The General Agreement on Tariffs and Trade
(GATT) was replaced by the World Trade Organi-
zation (WTO) on 1 January 1995. GATT, that came
into being on 1 January 1948, remained in effect
until the signature by 123 nations in Marrakesh
on April 14, 1994, of the Uruguay Round Agree-
ments, which established the WTO.

(3) The farmers of Punjab, Haryana and Western
Uttar Pradesh were the first to try out the modern

39.

40.

41.

42.

43.

44.

45.

farming methods in India. The methods used by
them included: setting up tube wells for irrigation;
making use of HYV seeds, chemical fertilizers and
pesticides in farming; making ploughing and har-
vesting easier by using tractors and threshers.

(3) Buffer stock refers to a reserve of a commodity
that is used to offset price fluctuations and un-
foreseen emergencies. Buffer stock is generally
maintained for essential commodities and neces-
sities like foodgrains, pulses etc. buffer stock is
maintained for meeting the prescribed minimum
buffer stock norms for food security.

(3) Aristocracy is a form of government that plac-
es power in the hands of a small, privileged ruling
class. An aristocratic state is marked by a rela-
tively small privileged class or by a minority con-
sisting of those felt to be best qualified to rule. It
is made up of collected people who are thought to
be exceptional in some way.

(4) Preamble is an introductory statement in a Con-
stitution which states the reasons and guiding
values of-the Constitution. It contains the phi-
losophy on which the entire Constitution has been
built.It provides a standard to examine and eval-
uate any law and action of government, to find
out whether it is good or bad.

(4) Preamble to the Constitution of India is a brief
introductory statement that sets out the guiding
purpose and principles of the document. It men-
tions that the aim of the Republic of India is se-
cure to all its citizens:

JUSTICE, social, economic and political;
LIBERTY of thought, expression, belief, faith and
worship;

EQUALITY of status and of opportunity; and to
promote among them all

FRATERNITY assuring the dignity of the individ-
ual and the unity and integrity of the Nation

(2) The Fundamental Duties are defined as the
moral obligations of all citizens to help promote a
spirit of patriotism and to uphold the unity of
India.Since no one can enforce morals, they are
not enforceable. They are more like a reminder of
Indian culture, traditions, values of freedom strug-
gle etc.

(2) In ancient India, tax was fixed at 1/6th of what
was produced. This was known as bhaga or a share.
It was the regular, customary, and legitimate share
of the king on the agricultural produce of the rev-
enue-paying land. However, the rates varied ac-
cording to the quality of the land.

(3) Bimbisara and his son Ajatshatru were the most
powerful rulers of Magadha mahajanapada. while
Bimbisara led an active and expansive policylaid
the foundations for the later expansion of the
Maurya Empire, Ajatshatru, too, followed policies
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47.
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50.

51.

52.

53.

of conquest and expansion. Magadha under him
became the most powerful kingdom in North In-
dia.

(3) The Natal Indian Congress (NIC) was an or-
ganisation that aimed to fight discrimination
against Indians in South Africa. It was founded
by Mahatma Gandhi in 1894 to fight discrimina-
tion against Indian traders in Natal.

(3) Under the leadership of Gandhi, the Civil Dis-
obedience Movement was launched with the Dan-
di March on 12 March 1930. Gandhi led the Dan-
di march from Sabarmati Ashram to the sea coast
near the village of Dandi.Breaking of the salt law
was the formal inauguration of the Civil Disobe-
dience Movement.

(2) From the beginning Jainism was supported
mainly by traders. This was because Jainism was
against some of the rituals and practices preached
and followed by the Brahmins. Besides, its stress
on non-violence appealed to the trader’s longing
for peace so conducive for their profession.

(2) Mahavira was born into the royal Kshatriya
family of King Siddhartha and Queen Trishala, a
sister of Chetak, an eminent Lichchhavi prince of
Vaishali. The Lichchhavi were the most famous
clan amongst the ruling confederate clans of the
Vajji Mahajanapada of. Vaishali the capital of the
Lichchhavi, was the capital of the Vajji mahajan-
apada also.

(2) The Tropic of Cancer passes through the fol-
lowing eight states in India: Gujarat, Rajasthan,
Madhya Pradesh, Chhattisgarh, Jharkhand, West
Bengal, Tripura, and Mizoram.

(1) Vembanad Lake of Kerala is the longest lake in
India with a length of 95.6 km. Besides, it.is the
largest lake in Kerala. Spanning several districts
in the state, it is known as Vembanadu Lake in
Kottayam, Punnamada Lake in Kuttanad, Kochi
Lake in Kochi. The Nehru Trophy Boat Race is
conducted in a portion of the lake.

(2) Kumaon Himalayas lies between Sutlej and
Kali rivers. It is the west-central part of the Hi-
malayas extending over 200 miles (320 km) from
the Sutlej River east to the Kali River. At an alti-
tude of above 14,000 feet (4,300 metres) is covered
by snow all-round the year.

(3) The headwaters of the Ganga, called the ‘Bha-
girathi,” is fed by the Gangotri Glacier and joined
by the Alaknanda at Devprayag in Uttarakhand.
In Hindu mythology and culture, the Bhagirathi
is considered the source stream of the Ganges.
However, in hydrology, the other headstream,
Alaknanda, is considered the source stream on
account of its great length and discharge. At
Haridwar, the Ganga emerges from the mountains
on to the plains.

54.
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(4) The coastal areas experience less variation in
temperature as compared to land due to the mod-
erating effect of the seas. Since the heating and
cooling capacity of water is much less as com-
pared to land, water takes more time to get hot or
cold than land. So,the areas near seas have more
moderate temperature during the day time and are
less cool at night.

(1) India and Asian Development Bank (ADB), in
February 2017, signed $375 million pact for loans
and grants to develop 800 km Visakhapatnam-
Chennai Industrial Corridor.It is the first phase
of a planned 2,500-km East Coast Economic Cor-
ridor.

(4) Superconductivity is a phenomenon displayed
by certain conductors that demonstrate no resis-
tance to the flow of an electric current. Once a
current has been started in a superconducting cir-
cuit, it continues to' flow indefinitely. Supercon-
ductivity is manifested only below a certain criti-
cal temperature.

(1) A fuse is a type of low resistance resistor that
acts as a sacrificial device to provide overcurrent
protection, of either the load or source circuit.
Low: resistance causes the fuse wire to melt if a
current more than the safe current for the appli-
ance starts flowing through the circuit. Besides,
the wire of fuse has very low melting point. When
high current flows through the circuit due to over-
loading or a short circuit, the wires gets heated
and melts.

(4) A small circular disc with segments in differ-
ent colours (usually Newton’s primary colours: red,
orange, yellow, green, blue, indigo, and violet)
appearing as white (or off-white or grey) when it
spins very fast. It is also known as Newton disc.
This type of mix of light stimuli is called temporal
optical mixing, a version of additive-averaging
mixing.

(1) In self-pollination, the pollen from the anther
of a flower is transferred to the stigma of the same
flower or the stigma of a different flower on the
same plant. Then, pollination occurs, and a seed
is able to form.This transfer can happen when the
pollen grains literally spill onto the stigma, or the
transfer can occur with the aid of a pollinator,
like an insect, wind, or water.

(3) The units of inheritance in living organisms
are the genes which are the hereditary characters
present in an individual. It is present in the chro-
mosomes in the nucleus of a cell. Genes, which
are made up of DNA, act as instructions to make
molecules called proteins. In humans, genes vary
in size from a few hundred DNA bases to more
than 2 million bases.
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(4) A small piece of a thin strip of magnesium
burns with a vivid flash of white light. When it is
completely burnt it leaves behind a powdery ash.
Magnesium is a highly flammable metal, but, while
it is easy to ignite when powdered or shaved into
thin strips, it is difficult to mass or bulk.

(3) An acid-base reaction is called a “neutraliza-
tion reaction.” It consists of the transfer of a hy-
droxide ion (H+) from the acid to the base. They
are therefore usually “displacement reactions,” but
can also be combination reactions. The products
are a salt and usually water. Therefore, they are
also called “water-forming reactions.”

(4) Catalyst refers to substance that starts or
speeds up a chemical reaction while undergoing
no permanent change itself. With a catalyst, re-
actions occur faster and with less energy. The en-
zymes in saliva, for example, are catalyst in di-
gestion.

(3) The presence of humus ensures that the nutri-
ents of the dead plants and animals are released
into the soil.Humus is the dark organic matter
that forms in the soil when plant and animal
matter decays. Humus contains many useful nu-
trients for healthy soil, nitrogen being the most
important of all.

(3) Whenever two niches overlap, competition en-
sues between organisms. In case of intraspecific
competition within the species, the niche overlap
is near 100%. Individuals of the same species
compete for the exact same things in the environ-
ment, therefore this is the strongest type of com-
petition.

(2) Madhya Pradesh’s school education department
has launched ‘Hamari Shala Kaisi Ho’ and ‘Shala
Siddhi Karyakram’ in all government schools of
the state in order to provide qualitative education
to the students. It has also started ‘Shala Siddhi
Prohatsan Yojana under the programme in 25
thousand schools of the state to encourage best
works.

(1) Pradhan Mantri Kisan Sampada Yojana
(PMKSY) is a new central  scheme on agro-food
processing. It was earlier known as Scheme for
Agro-Marine Processing and Development of Agro-
Processing Cluster (SAMPADA). It includes
schemes such as mega food parks, food safety and
quality assurance infrastructure, integrated cold
chain and value addition infrastructure, infra-
structure for agro-processing clusters, creation/
expansion of food processing & preservation ca-
pacities, etc.

(1) Scientists, in November 2017, announced to
have discovered the most ancient spiral galaxy in
the universe that existed 11 billion years ago and

69.

70.

71.

72.

73.

74.

75.

could provide insights into the early cosmos. The
galaxy, known as A1689B11, existed just 2.6 bil-
lion years after the Big Bang, when the universe
was only one fifth of its present age.

(1) RNA Editing for Programmable A to I Replace-
ment (REPAIR) is a new gene editing tool thera-
pies that can reverse genetic disease-causing mu-
tations in humans. REPAIR is based on gene ed-
iting tool CRISPR (Clustered Regularly Interspaced
Short Palindromic Repeats) that can be used to
modify DNA in cells.

(2) India, in October 2017, defeated a gutsy Ma-
laysia 2-1 in a close final to clinch its third Asia
Cup hockey title in Dhaka. India had last won
the Asia Cup in 2003 (Kuala Lumpur) and 2007
(Chennai). Malaysia ‘had earlier won the bronze
in the 2007 edition of the event in Chennai.

(2) Indian ace shuttler and 2017 Rio Olympic sil-
ver medallist PV Sindhu, in August 2017, won the
silver medal in.2017 World Badminton Champi-
onship held at Glasgow, Scotland (United
Kingdom).In the final match, Sindhu lost to Ja-
pan’s Nozomi Okuhara.

(1) Indiaand China, on 18 July 2017, jointly sub-
mitted a proposal to the WTO calling for the elim-
ination - by developed countries - of the most
trade-distorting form of farm subsidies, known as
Aggregate Measurement of Support (AMS). The
proposal countered the efforts by some countries
to target the subsidies of the developing countries
while letting the developed countries retain their
huge farm subsidies.

(1) India, in October 2017, flagged off a shipment
of wheat for Afghanistan through Iran’s Chaba-
har port—marking the operationalization of the
port for the trans-shipment of goods from India
to the landlocked country. This was a major push
for India’s Afghan outreach bypassing Pakistan.
(8) Veteran writer-lyricist Javed Akhtar was, in
October 2017, honoured with the 2017 Hridaynath
Mangeshkar Award at event in Mumbai which
marked 80th birthday of veteran music composer
Hridaynath Mangeshkar and 28th anniversary of
Hridayesh Arts. The previous recipients of the
award include eminent personalities like Lata
Mangeshkar, Asha Bhosle, Amitabh Bachchan,
Hariprasad Chaurasia, A R Rahman.

(1) Indian-American Gitanjali Rao, in October
2017, won the 2017 Discovery Education 3M Young
Scientist Challenge for inventing a quick, low-cost
test to detect lead-contaminated water. Rao’s pro-
totype device named Tethys, after the Greek god-
dess for fresh water is sensor-based device detects
the quality of water and shares the results to a
mobile application via Bluetooth.
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(1) India’s capital market regulator Securities and
Exchange Board of India (SEBI) is planning to
bring Initial Coin Offerings (ICO) under its exist-
ing legal framework. In recent times, popularity of
crypto currencies has increased rapidly and num-
ber of entities looking at raising funds through
ICO.

(2) According to Grant Thornton’s International
Business Report (IBR), released in November 2017,
India slipped in ‘business optimism’ index to the
7th position in the September quarter, from the
2nd slot in the previous quarter, showing clear
signs of lag in the economy. Indonesia topped the
report, followed by Finland (2nd), the Netherlands
(3rd), Philippines (4th), Austria (5th).

(1) India and Italy on 30 October 2017 signed six
Memorandums of Understanding (MoU) to boost
cooperation in various important sectors includ-
ing energy and trade and railways.The pacts were
signed after detailed high-level talks between In-
dian Prime Minister Narendra Modi and visiting
Italian Prime Minister Paolo Gentiloni.

(1) The India-Ethiopia Business Dialogue, organ-
ised to commemorate the 12th Anniversary of the
India Business Forum, was held in Addis Ababa
on 5 October 2017. The forum is the first partner-
country forum of its kind in Ethiopia and repre-
sents more than 100 Indian companies.

(3) In a major decision, the union environment
ministry notified the new Wetland (Conservation
and Management) Rules 2017 on 26 September
2017 that will replace the 2010 version of the rules.
The new rules prohibit a range of activities in wet-
lands like setting up and expansion of industries,
waste dumping and discharge of effluents.

(3) ‘Talanoa’ is a traditional approach used in Fiji
and the Pacific to engage in an inclusive, partici-
patory and transparent dialogue. As per the COP23
decision, it has been structured around three
questions - where are we? where do we want to
go? and how do we get there? - to arrive at an-
swers with consensus.

(2) Uttar Pradesh Chief Minister Yogi Adityanath,
on 17 August 2017, announced the appointment
of Bollywood actor Akshay Kumar as the brand
ambassador of the Swachh Bharat Mission in the
state. The state government aims to make the state
defecation free by October 2, 2018.

(2) Kaamya Karthikeyan scaled one of the highest
Himalayan peaks, Mount Stok Kangri (20,187 feet
or 6,153 meters above sea level) on August 7, 2017.
She has become the youngest to climb Mt Stok
Kangri in the Ladakh Himalayas. Earlier in May
2017, she had successfully reached the base camp
of Mt Everest at 5,464 metres.
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(8) Burundi, in October 2017, became the first
country to withdraw from the International Crim-
inal Court (ICC), a year after it notified the Unit-
ed Nations secretary-general of its intention to
leave the court that prosecutes the world’s worst
atrocities. Burundi accuses ICC of focusing too
much on the continent.

(4) According to the Global Passport Power Rank
2017, released in October 2017, Singapore has
world’s most powerful passport, making it first
Asian country to top it. Singapore’s passport scored
visa-free score of 159 in the index.It means that
approximately 3.4 million holders of Singaporean
passports can now travel to 159 countries either

without visa or can have one issued on arrival.
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(12"= /32 = (32)2

1

= 2= (25)2
5
=2"=1(2)2

_5
=Sn=5

[If a™ = a® then m = n]

2)1+2+3+......... +n
nn 1
B 2
12+ 13+ ....... + 30
=1+2+3+...... +30)-(1+2+3+....... +11)
_ 30 31_11 12
2 2
=465 - 66 = 399
(1) Expression
=3+l+5+l+7+i+9+L
2 6 12 20

(11 1 L)
=B+5+7+9)+ 2+E+E+20

=24+(30 10 5 3)
60
o4 20 o gt 122
60 5 5

B)24=2x2x%x2x3
36=2x2x3x3
60=2%x2x3x%x5
Required HC.F. =2x2x3 =12
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(2) Expression = 0.12 + 0.03 x 0.01
012
~ 0.03

(1) Let the number be x.
According to the question,

x 0.01 =4 x 0.01 =0.04.

60x
100

+ 200 = x

:3?){+200=x

3x
= X- 5 =200

2x
= 5 =200

200 5
= x= T =500

(3) Let the quantity of water be x liters.

. Quantity of alcohol = (x - 2) litres
According to the question,

x -2 1

x 5

= b5x-10=x

= bx-x=10

=4x=10= x= % = 2.5 litres

(3) First 12 multiples of 5
=5, 10,15, ......... 60
Required average

3
R
=P1 —| ... ii
6288 ( 100) (ii)

By equation (i) + (i),
R 6288

1+ 700 = 5240

R 6288 6288 - 5240
= [ J—— =
100 ~ 5240 5240

R 1048 1
= 100 5240 ~ 5

1
:>R=g x 100

95. (3) Required S.P.

< 1400 120
' 100

96. (3) Let the marked price of fan be Rs.x.
According to the question,

80 960 130

20% per annum.

) =Rs.1680

100 100
= xx 80 =960 x 130
x= 260 130 o560
80

97. (1) Clearly, diameter of circle = side of square
Area of circle =nr?
= ntxr=16mn
=>r=16=r= /16 =4cm.
~.~Side of square
=2x4=8cm.
.. Area of square = 8 x 8
= 64 sq.cm.
98. (2) PQ =900 km.
Speed = 25 m./sec.

18
= (25 ?) kmph = 90 kmph.

. 900 h
Time = —90 = 10 hours

Period of stoppage
= 1 hour 40 minutes
. Required time = 8 a.m. + 11 hours 40 minutes
=7:40 p.m.
99. (1) Ratio of the shares of A and B = Ratio of the

equivalent capitals of A and B
= 35000 x 12 : 50000 x 7
=6:5

100. (3) Let the pipe K fill the empty the full tank in x
minutes.
According to the question,

1 1 1 1
12714 x" 21

i 1 1 1 76 4 9 3
Z x~12 %14 21 84 ~ 84 ~28
28
LoX= ?minutes aaa



